=
<

= =
© =)
o =
= 3
=
S k)
e B
2
S

12 3 ¥z =21 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_MKFIt_TIbase

—e— DOQM_mkFit5_TT retrainOldFiles125_v2_prelimWP_epoch4

—— DQM_mkFit_TT _Dbaseline_6iter

—— DQM_mkKFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

= £
=) N T O o
2 L =
5 o
> ° 107k
1072
0107 ° L i L
T T . :
x 3 e RS | IRRREEEE |- M EEEEE & EEEE REEEEES
2 r
-3 R 0o 1 2 3
TP n (PCA to beamline)
~ 1
2
o
o
o
o
107}
1072
o
g
x 0.9
0.8:
0I3==— =10 12 3

TP n (PCA- to beamline)



	Contents
	Page 1


